Assumes Fully Distributed Costs = (Direct Costs + Shared Costs + Common Overheads) + Gross Revenue Loadings

This tool would only be appropriate for investment-based services and not those that are only expensed labor.

User is to populate the 7 fields highlighted in Blue.

Calculation of Fully Distributed Costs (FDC)

Customer Name: Verizon Wireless ViICCS Cadulated Shared Cost (before GRL) $0
State: MD VICCS Direct Calculated Cost (before GRL) $4,508.88
Case Number: 2006-395232 Common Overhead Loading from ViCCS Table: 0.101200
Service Name: Diverse Routing GRL Factor from VICCS Table: 0.011000
a b c d e f
FDC = (b+c)
DIRECT Cost SHARED Cost X (1+d)
Rate Element Name (before GRL) (before GRL) Common Overhead GRL x (1 +(e/ (1-e))
Diverse Routing $4,508.88 $0 0.101200 0.011000 $5,020.40




